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1\
18cm

HI
=-20cm- -~

&)

(¥E0])=8x (1-0.3) = 5.6( cm)

(RH)= 20 x (1 4 0.55) = 31( cm)

— 31x5.6+2=86.8(cm?)

A& A7k o] Yol 8 x 20 + 2 = 80(cm?)
— 86.8 — 80 = 6.8( cm?)
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(BE2A):(EH] ZA) =100 : 5= (100+5) : (5+5)

= _a . 1
A (BFA)=1 : 20 > 55
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5. olMye] 71 160.65 cm ©]1L, WA0]9] 7] 105 cm QU T} WA
Ay 9] 717k w17do] 719] 150 % & o, olM U] 71 7o) Ay ]
719] & Hj I Y72
> E Gl

> = no2e

(730] AAY 9] 7]) =105 x 1.5 = 157.5( cm)
— 160.65 + 157.5 = 1.02 (H)




YF7H12.56 cm o PO WA F2 2 emPH7F?

(RE=A]

=

j=

)=12.56 +3.14 + 2 = 2cm




7. e maolA AT BRe] SHle] Zols FalAl L.

=
[— ]

>
[> e 20.56cm

o

~&B

(6X2X3'14+2X2X3'14)X71+4X2

1
= (37.68 + 12.56) x 1 +38

=12.56 +8
= 20.56( cm)




